=3

¥

>
=~

AR ET AR ABEE T S Y - gLy
— £ o
R L -

— N fj{“ﬁ-f-‘-” ]‘J‘l-.‘ /P 'El 2 ‘g‘!’—-_V 1§~ ’ ’&f'—r ]—%‘Jtﬁi‘ﬁ‘ Vl N VZ N V3"‘:§:(E

[=X)

N

~N

m/mm) EE S N5

[ A A% - o>
Ty il
‘ v
7
7/ r,
// rz
/
7

£330 I T ERIE oL

(= ro=0 -

(Z)r=bxn/100 (H = ‘m> g * iz - ) o

(2 )r=10xn/100 (HE = ‘m> g * iz =)o

LHFRE Q(E = n/min)3 & o7 50
Qn=VuxKx

FRIEEE 5 QX

CHE PP RRERCRER CPHIER A FRIZ I FRAZ

~N

Lo > 72 ikgp ANSI/AMCA 210 % 7.2 &2 1SO 5801 % 12.1
g0 P RIAE R Q BEIEEZFAETCGER 200 7 B
101. 32kPa ~ Ap i3 & TH%)2 AR EE > Ao A

HEAE £ /min)=F Rk £ m/minx(ZRIFEE 5§ R A/ EE
HETF BR)
R =R R B (0'/min)/ T A FW) 0 3 E D) B S
o ] BCBES B Z AR T A o



MR R (O ¥

>L g

B (%)
B4 (kPa) 3% 1 | #

1~ A

L

)

—
\—\ﬁé

o

»
-z F A/ E D) R

N—

il

f

N o



